IBM XL Fortran for Blue Gene, V14.1 (5799-AH1) Version 14.01.0000.0001 ---
simd.f 01/08/13 13:39:39

>>>>> OPTIONS SECTION <<<<<
Fhx Options In Effect  ***

== On / OFf Options ==

CR NODIRECTSTORAG ESCAPE 14

INLGLUE NOL IBESSL NOL IBPOSIX OBJECT
NOSTRICT SWAPOMP UNWIND NOZEROSIZE
== Options Of Integer Type ==

ALIAS_SI1ZE(65536) FIXED(72) MAXMEM(-1)
OPTIMIZE(3) SPILLSIZE(512) STACKTEMP(0)

== Options of Integer and Character Type ==
CACHE(LEVEL(1),TYPE(I),ASSOC(4),COST(6),LINE(64),SIZE(16))
CACHE(LEVEL(2),TYPE(Il) ,ASSOC(16),COST(80),LINE(128))
CACHE(LEVEL(1),TYPE(D) ,ASSOC(8),COST(6),LINE(64),SIZE(16))
CACHE(LEVEL(2),TYPE(D) ,ASSOC(16),COST(80),LINE(128))
INLINE(NOAUTO, LEVEL(5))

HOT(VECTOR, FASTMATH,LEVEL (1))

SIMD(AUTO)

== Options Of Character Type ==

640 ALIAS(STD, INTPTR)
ALIGN(BINDC(LINUXPPC),STRUCT(NATURAL))

ARCH(QP) AUTODBL (NONE) DESCRIPTOR(V1)

DIRECTIVE(1BM*) ENUMQO FLAG(I, )

FLOAT(MAF, FOLD,RSQRT , FLTINT)
GNU_VERSION(DOT_TRIPLE)

HALT(S) IEEE(NEAR) INTSIZE(4)

LISTO LANGLVL (EXTENDED) POSITION(APPENDOLD)
REALS1ZE (4) REPORT(HOTLIST) SAVE(ALL)

TUNE(QP) UNROLL (AUTO) XFLAGQ)

XLF2003 (NOPOLYMORPHIC ,NOBOZLITARGS ,NOSTOPEXCEPT ,NOVOLATILE,NOAUTOREALLOC,OLD

NANINF)
XLF2008 (NOCHECKPRESENCE)

XLF77(NOLEADZERO,GEDIT77 ,NOBLANKPAD,OLDBOZ, INTARG, INTXOR,PERSISTENT , SOFTEOF)
XLFOO(NOSIGNEDZERO, NOAUTODEALLOC, OLDPAD)

>>>>> SOURCE SECTION <<<<<
** simd === End of Compilation 1 ===

>>>>> | OOP TRANSFORMATION SECTION <<<<<



1586-542 (1) Loop (loop index 3 with nest-level 0 and iteration count 1000)
at simd.f <line 14> was SIMD vectorized.

1586-543 (1) <SIMD info> Total number of the innermost loops considered
<"1">_ Total number of the innermost loops SIMD vectorized <"1">.

9| PROGRAM simd O
14] IF (.TRUE.) THEN
IF (.FALSE.) GOTO lab_15

CALL __alignx(32,(b + (-8) + ()*(1)))
CALL __alignx(32,(c + (-8) + ()*(1L)))
CALL __alignx(32,(a + (-8) + ()*(1)))
$$CIV3 = int(0)
1d=3 DO $$CIV3 = $$CIV3, 249
I DIR_INDEPENDENT loopld = O

16| SEV.b[($SCIV3 * 4 + 1) = splat

17] $BV.c[($SCIV3 * 4 + 1) = splat

21] $BV.a[($$CIV3 * 4 + 1) = splat

21] ENDDO
lab 15
lab 13

24| #2 = _xI1fBeginl0(6,257,#1,1024 ,NULL,0,NULL)

CALL _xIfWriteLDChar(%VAL(#2),"a(i)= ",6,1)
CALL xIfWritelLDReal (WWAL(#2),(a + (-8) +
(8)*(1000)).8,8)
_XIFENdI10(%VAL(#2))
25] CALL _xIfExit(0)
END PROGRAM simd

Source Source Loop Id Action / Information
File Line

0 14 3 The loops on lines 14 and 20 have
been fused.

0 14 3 Loop with nest-level 0 and

iteration count 1000 was
SIMD vectorized.

9] PROGRAM simd ()

14] IF (.TRUE.) THEN
CALL __alignx(32,(b + (-8) + (8)*(1)))
CALL __ alignx(32,(c + (-8) + ()*(1D)))
CALL _alignx(32,(a + (-8) + ()*(1D)))
$$CI1V3 = Int(0)

1d=3 DO $$CIV3 = $$CIV3, 249
! DIR_INDEPENDENT loopld = 0O

16| SEV.b[($SCIV3 * 4 + 1) = splat

17] $BV.c[($$CIV3 * 4 + 1) = splat

21] $BV.a[($$CIV3 * 4 + 1) = splat



21] ENDDO
ENDIF
24] #2 = x1fBeginl0(6,257,#1,1024,NULL,0,NULL)
CALL _xIfWriteLDChar(%VAL(#2),"a(i)= ",6,1)
CALL _xIfWriteLDReal (WAL(#2),(a + (-8) + (8)*(1000)),8,8)
_xIFENd10(%VAL(#2))
25] CALL _xIFExit(0)
END PROGRAM simd

>>>>> OBJECT SECTION <<<<<

GPR"s set/used: SSUS SSSS SSSS S--—- ——-—— ———— ———- SSS-

FPR"s set/used: SSSS SSSS SSSS SSSS  SSSS SSSS SSSS SSSS

CCR"s set/used: SS-- -SSS

| 000000 PDEF simd

9] PROC
0] 000000 ridicl 782C0O6EO 1 RN8 grl2=grl,0,0x1F
0] 000004 stfd DBE1FFF8 1 STFL #stack(grl,-8)=qr31
0] 000008 stfd DBC1FFFO 1 STFL #stack(grl,-16)=qr30
0] 00000C stfd DBA1FFES8 1 STFL #stack(grl,-24)=qr29
0] 000010 stfd DBB1FFEO 1 STFL #stack(grl,-32)=qr28
0] 000014 stfd DB61FFD8 1 STFL #stack(grl,-40)=qr27
0] 000018 stfd DB41FFDO 1 STFL #stack(grl,-48)=qr26
0] 00001C stfd DB21FFC8 1 STFL #stack(grl,-56)=qr25
0] 000020 stfd DBO1FFCO 1 STFL #stack(grl,-64)=qr24
0] 000024 stfd DAE1FFBS8 1 STFL #stack(grl,-72)=qr23
0] 000028 stfd DAC1FFBO 1 STFL #stack(grl,-80)=qr22
0] 00002C stfd DAA1FFAS8 1 STFL #stack(grl,-88)=qr21
0] 000030 stfd DA81FFAO 1 STFL #stack(grl,-96)=qr20
0] 000034 stfd DA61FF98 1 STFL #stack(grl,-104)=qri9
0] 000038 stfd DA41FF90 1 STFL #stack(grl,-112)=qri8
0] 00003C stfd DA21FF88 1 STFL #stack(grl,-120)=qri7
0] 000040 stfd DAO1FF80 1 STFL #stack(grl,-128)=qri6
0] 000044 stfd DOE1FF78 1 STFL #stack(grl,-136)=qrl5
0] 000048 stfd D9C1FF70 1 STFL #stack(grl,-144)=qrl4
0] 00004C std FBE1FF68 1 ST8 #stack(grl,-152)=gr31
0] 000050 std FBC1FF60 1 ST8 #stack(grl,-160)=gr30
0] 000054 std FBA1FF58 1 ST8 #stack(grl,-168)=gr29
0] 000058 std FB81FF50 1 ST8 #stack(grl,-176)=gr28
0] 00005C mfspr 7C0802A6 1 LFLR gro=Ir
O] 000060 subfic  218CFECO 1 SF18 grl2=-320,gril2,ca"
0] 000064 std F8010010 1 ST8 #stack(grl,16)=gr0
0] 000068 std FBE1FF68 1 ST8 #stack(grl,-152)=gr31
0] 00006C stdux 7C21616A 1 ST8U grl,#stack(grl,gri2)=grl
0] 000070 Id EBC20000 1 L8

gr30=_+CONSTANT_AREA(gr2,0)
O] 000074 addi 38600020 1 LI gr3=32
14] 000078 I1d EBA20000 1 L8 gr29=_$STATIC_BSS(gr2,0)
21] 00007C addi 38A00040 1 LI gr5=64
21] 000080 addi 38C00060 1 LI gr6=96
21] 000084 addi 38E00080 1 LI gr7=128



O] 000088 qvIfdx
qrO=+CONSTANT_AREA(gr30,gr3,0)
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00008C
000090
000094
000098
00009C
0O000AO
0000A4
OO0O0AS8
O000AC
0000BO
0000B4
0000B8
0000BC
0000COo
0000C4
0000C8
0000cCC
0000DO0
0000D4
0000D8
0000DC
OOO0O0EO
OOOOE4
OOOOE8
OO0O0OEC
0O000FO0
OO0OO0F4
0OO00O0F8
0O000FC
000100
000104
000108
00010C
000110
000114
000118
00011C
000120
000124
000128
00012C
000130
000134
000138
00013C
000140
000144
000148
00014C
000150

addi
addi
addi
addi
addi
addi
addi
qvstfdx
qvstfdx
qvstfdx
qvstfdx
qvstfdx
qvstfdx
gvstfdx
gvstfdx
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
qvstfdx
addi
addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx

7C1E1C8E

390000A0
389DFFEO
392000C0
394000EO0
39600100
39800120
38800140
7C041D8E
7C042D8E
7C04358E
7C043D8E
7C04458E
7C044D8E
7C04558E
7C045D8E
7C04658E
7CO4E58E
38600160
38A00180
7C041D8E
7C042D8E
386001A0
38A001CO
7C041D8E
7C042D8E
386001E0
38A00200
7C041D8E
7C042D8E
38600220
38A00240
7C041D8E
7C042D8E
38600260
7C041D8E
38600280
38A002A0
7C041D8E
7C042D8E
386002C0
38A002EO
7C041D8E
7C042D8E
38600300
38A00320
7C041D8E
7C042D8E
38600340
38A00360
7C041D8E

=
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QVLFDX

L1
Al
L1
L1
L1
L1
L1
QVSTEDX
QVSTEDX
QVSTEDX
QVSTFDX
QVSTFDX
QVSTFDX
QVSTFDX
QVSTFDX
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX

gr8=160

gr4=gr29,-32

gro=192

grl0=224

grll=256

grl2=288

gr28=320
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
$$V.a[12(gra,gr6,0)=qro
$$V.a[]2(gr4,gr7,0)=qro0
$$VvV.a[12(gr4,gr8,0)=qr0
$$Vv.a[l12(gr4,gr9,0)=qro0
$$V.a[]2(gr4,grin,0)=qro
$$V.a[]2(gr4,gril,0)=qro
$$V.a[]2(gr4,gri2,0)=qro0
$$V.a[]2(gr4,gr28,0)=qr0
gr3=352

gr5=384
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=416

gr5=448
$$Vv.a[12(gr4,gr3,0)=qro0
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=480

gr5=512
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=544

gr5=576
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=gro
gr3=608
$$V.a[l12(gra,gr3,0)=qro
gr3=640

gr5=672
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=704

gr5=736
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=768

gr5=800
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=832

gr5=864
$$VvV.a[12(gr4,gr3,0)=qro0
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000154
000158
00015C
000160
000164
000168
00016C
000170
000174
000178
00017C
000180
000184
000188
00018C
000190
000194
000198
00019C
0001AO0
0001A4
0001A8
0001AC
0001BO
0001B4
0001B8
0001BC
0001CO
0001Cc4
0001C8
0oo1cc
0001D0
0001D4
0001D8
0001DC
0O001EO
0O001E4
O001E8
0001EC
0001FO
0001F4
0001F8
0001FC
000200
000204
000208
00020C
000210
000214
000218
00021C
000220

qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
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addi
addi
qvstfdx
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addi
addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx

7C042D8E
38600380
38A003A0
7C041D8E
7C042D8E
386003CO0
38A003EO
7C041D8E
7C042D8E
38600400
38A00420
7C041D8E
7C042D8E
38600440
38A00460
7C041D8E
7C042D8E
38600480
38A004A0
7C041D8E
7C042D8E
386004C0
38A004EO
7C041D8E
7C042D8E
38600500
38A00520
7C041D8E
7C042D8E
38600540
38A00560
7C041D8E
7C042D8E
38600580
38A005A0
7C041D8E
7C042D8E
386005C0
38A005EO
7C041D8E
7C042D8E
38600600
38A00620
7C041D8E
7C042D8E
38600640
38A00660
7C041D8E
7C042D8E
38600680
38A006A0
7C041D8E
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QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
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L1
L1
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QVSTFDX
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L1
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L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX

$$VvV.a[12(gr4,gr5,0)=qro0
gr3=896

gr5=928
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=960

gr5=992
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[12(gra,gr5,0)=gro
gr3=1024

gr5=1056
$$V.a[12(gra,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=1088

gr5=1120
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=1152

gr5=1184
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=1216

gr5=1248
$$V.a[l12(gra,gr3,0)=qro
$$VvV.a[12(gr4,gr5,0)=qro0
gr3=1280

gr5=1312
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=1344

gr5=1376
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=1408

gr5=1440
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=1472

gr5=1504
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=1536

gr5=1568
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=1600

gr5=1632
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=1664

gr5=1696
$$VvV.a[12(gr4,gr3,0)=qro0
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000224
000228
00022C
000230
000234
000238
00023C
000240
000244
000248
00024C
000250
000254
000258
00025C
000260
000264
000268
00026C
000270
000274
000278
00027C
000280
000284
000288
00028C
000290
000294
000298
00029C
0002A0
0002A4
0002A8
0002AC
0002B0
0002B4
0002B8
0002BC
0002C0
0002C4
0002C8
0002CC
0002D0
0002D4
0002D8
0002DC
0002EO
0002E4
0002E8
0002EC
0002F0

qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi

7C042D8E
386006C0
38A006EO
7C041D8E
7C042D8E
38600700
38A00720
7C041D8E
7C042D8E
38600740
38A00760
7C041D8E
7C042D8E
38600780
7C041D8E
38A007A0
386007CO
7C042D8E
7C041D8E
38A007EO
38600800
7C042D8E
7C041D8E
38A00820
38600840
7C042D8E
7C041D8E
38A00860
38600880
7C042D8E
7C041D8E
38A008A0
386008CO0
7C042D8E
7C041D8E
38A008EO
38600900
7C042D8E
7C041D8E
38A00920
38600940
7C042D8E
7C041D8E
38A00960
38600980
7C042D8E
7C041D8E
38A009A0
386009C0
7C042D8E
7C041D8E
38A009EO
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QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1

$$VvV.a[12(gr4,gr5,0)=qro0
gr3=1728
gr5=1760
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=1792
gr5=1824
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[12(gra,gr5,0)=gro
gr3=1856
gr5=1888
$$V.a[12(gra,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=1920
$$VvV.a[l12(gr4,gr3,0)=qro
gr5=1952
gr3=1984
$$V.a[]2(gr4,gr5,0)=qro0
$$V.a[]12(gr4,gr3,0)=qro0
gr5=2016
gr3=2048
$$V.a[l12(gra,gr5,0)=gro
$$V.a[l12(gra,gr3,0)=qroO
gr5=2080
gr3=2112
$$VvV.a[l12(gr4,gr5,0)=qr0
$$VvV.a[12(gr4,gr3,0)=qr0
gr5=2144
gr3=2176
$$V.a[]2(gr4,gr5,0)=qro0
$$V.a[]12(gra,gr3,0)=qro0
gr5=2208
gr3=2240
$$V.a[]2(gr4,gr5,0)=qro0
$$V.a[l12(gra,gr3,0)=qro
gr5=2272
gr3=2304
$$VvV.a[l12(gr4,gr5,0)=qr0
$$VvV.a[12(gr4,gr3,0)=qro0
gr5=2336
gr3=2368
$$V.a[]2(gr4,gr5,0)=qro0
$$V.a[]2(gr4,gr3,0)=qro0
gr5=2400
gr3=2432
$$V.a[]2(gra,gr5,0)=qro0
$$V.a[12(gra,gr3,0)=qro
gr5=2464
gr3=2496
$$VvV.a[12(gr4,gr5,0)=qr0
$$VvV.a[12(gr4,gr3,0)=qr0
gr5=2528
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0002F4
0002F8
0002FC
000300
000304
000308
00030C
000310
000314
000318
00031C
000320
000324
000328
00032C
000330
000334
000338
00033C
000340
000344
000348
00034C
000350
000354
000358
00035C
000360
000364
000368
00036C
000370
000374
000378
00037C
000380
000384
000388
00038C
000390
000394
000398
00039C
0003A0
0003A4
0O003A8
0O003AC
0003B0
0003B4
0003B8
0003BC
0003C0

addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi

38600A00
7C042D8E
7C041D8E
38600A20
38A00A40
7C041D8E
7C042D8E
38600A60
38A00A80
7C041D8E
7C042D8E
38600AA0
38A00ACO
7C041D8E
7C042D8E
38600AEO
38A00B0OO
7C041D8E
7C042D8E
38600B20
38A00B40
7C041D8E
7C042D8E
38600B60
38A00B80
7C041D8E
7C042D8E
38600BA0
38A00BCO
7C041D8E
7C042D8E
38600BEO
38A00C00
7C041D8E
7C042D8E
38600C20
38A00C40
7C041D8E
7C042D8E
38600C60
38A00C80
7C041D8E
7C042D8E
38600CA0
38A00CCO
7C041D8E
7C042D8E
38600CEO
38A00D0O0
7C041D8E
7C042D8E
38600D20

PRRPRRPRRPRRPRRPRPRPRPRPRPRPRRPRPRPRRPRPRRPRRPRPRPRPRRPRPRPRPRRPRPRPRPRPRREPRPRPRPRREPRPRREPRRPRRRERRRRERRERER

L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1

gr3=2560
$$VvV.a[12(gr4,gr5,0)=qr0
$$V.a[]2(gr4,gr3,0)=qro0
gr3=2592
gr5=2624
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=2656
gr5=2688
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=2720
gr5=2752
$$VvV.a[12(gr4,gr3,0)=qr0
$$Vv.a[]12(gr4,gr5,0)=qr0
gr3=2784
gr5=2816
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=2848
gr5=2880
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=2912
gr5=2944
$$Vv.a[12(gr4,gr3,0)=qro0
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=2976
gr5=3008
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=3040
gr5=3072
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=gro
gr3=3104
gr5=3136
$$VvV.a[12(gr4,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qr0
gr3=3168
gr5=3200
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=3232
gr5=3264
$$V.a[]12(gr4,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=qro
gr3=3296
gr5=3328
$$VvV.a[12(gr4,gr3,0)=qr0
$$VvV.a[12(gr4,gr5,0)=qro0
gr3=3360



21]
21}
21]
21}
21]
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21}
21}
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21}
21]
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21}
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}

0003C4
0003C8
0003cCC
0003D0
0003D4
0003D8
0003DC
0O003EO
0O003E4
0OO003ES8
0O003EC
0003F0
O003F4
O003F8
0003FC
000400
000404
000408
00040C
000410
000414
000418
00041C
000420
000424
000428
00042C
000430
000434
000438
00043C
000440
000444
000448
00044C
000450
000454
000458
00045C
000460
000464
000468
00046C
000470
000474
000478
00047C
000480
000484
000488
00048C
000490

addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi

38A00D40
7C041D8E
7C042D8E
38600D60
38A00D80
7C041D8E
7C042D8E
38600DA0
38A00DCO
7C041D8E
7C042D8E
38600DEO
38A00EQ0O
7C041D8E
7C042D8E
38600E20
38A00E40
7C041D8E
7C042D8E
38600E60
38A00ES80
7C041D8E
7C042D8E
38600EAO
38A00ECO
7C041D8E
7C042D8E
38600EEO
38A00F00
7C041D8E
7C042D8E
38600F20
38A00F40
7C041D8E
7C042D8E
38600F60
38A00F80
7C041D8E
7C042D8E
38600FAO
38A00FCO
7C041D8E
7C042D8E
38600FEO
38A01000
7C041D8E
7C042D8E
38601020
38A01040
7C041D8E
7C042D8E
38601060

PRRPRRPRRPRRPRRPRPRPRPRPRPRPRRPRPRPRRPRPRRPRRPRPRPRPRRPRPRPRPRRPRPRPRPRPRREPRPRPRPRREPRPRREPRRPRRRERRRRERRERER

L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1

gr5=3392
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=3424
gr5=3456
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=3488
gr5=3520
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=3552
gr5=3584
$$VvV.a[12(gr4,gr3,0)=qr0
$$Vv.a[]12(gr4,gr5,0)=qr0
gr3=3616
gr5=3648
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=3680
gr5=3712
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=3744
gr5=3776
$$Vv.a[12(gr4,gr3,0)=qro0
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=3808
gr5=3840
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=3872
gr5=3904
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=gro
gr3=3936
gr5=3968
$$VvV.a[12(gr4,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qr0
gr3=4000
gr5=4032
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=4064
gr5=4096
$$V.a[]12(gr4,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=qro
gr3=4128
gr5=4160
$$VvV.a[12(gr4,gr3,0)=qr0
$$VvV.a[12(gr4,gr5,0)=qro0
gr3=4192



21]
21}
21]
21}
21]
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21}
21}
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21}
21]
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21}
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}

000494
000498
00049C
0004A0
0004A4
0004A8
0004AC
000480
0004B4
000488
0004BC
0004C0
0004C4
0004C8
0004CC
0004D0
0004D4
0004D8
0004DC
0004EO
0004E4
0004ES8
0004EC
0004F0
0004F4
0004F8
0004FC
000500
000504
000508
00050C
000510
000514
000518
00051C
000520
000524
000528
00052C
000530
000534
000538
00053C
000540
000544
000548
00054C
000550
000554
000558
00055C
000560

addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi

38A01080
7C041D8E
7C042D8E
386010A0
38A010CO0
7C041D8E
7C042D8E
386010E0
38A01100
7C041D8E
7C042D8E
38601120
38A01140
7C041D8E
7C042D8E
38601160
38A01180
7C041D8E
7C042D8E
386011A0
38A011CO
7C041D8E
7C042D8E
386011E0
38A01200
7C041D8E
7C042D8E
38601220
38A01240
7C041D8E
7C042D8E
38601260
38A01280
7C041D8E
7C042D8E
386012A0
38A012C0
7C041D8E
7C042D8E
386012E0
38A01300
7C041D8E
7C042D8E
38601320
38A01340
7C041D8E
7C042D8E
38601360
38A01380
7C041D8E
7C042D8E
386013A0

PRRPRRPRRPRRPRRPRPRPRPRPRPRPRRPRPRPRRPRPRRPRRPRPRPRPRRPRPRPRPRRPRPRPRPRPRREPRPRPRPRREPRPRREPRRPRRRERRRRERRERER

L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1

gr5=4224
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=4256
gr5=4288
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=4320
gr5=4352
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=4384
gr5=4416
$$VvV.a[12(gr4,gr3,0)=qr0
$$Vv.a[]12(gr4,gr5,0)=qr0
gr3=4448
gr5=4480
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=4512
gr5=4544
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=4576
gr5=4608
$$Vv.a[12(gr4,gr3,0)=qro0
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=4640
gr5=4672
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=4704
gr5=4736
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=gro
gr3=4768
gr5=4800
$$VvV.a[12(gr4,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qr0
gr3=4832
gr5=4864
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=4896
gr5=4928
$$V.a[]12(gr4,gr3,0)=qro0
$$V.a[l12(gra,gr5,0)=qro
gr3=4960
gr5=4992
$$VvV.a[12(gr4,gr3,0)=qr0
$$VvV.a[12(gr4,gr5,0)=qro0
gr3=5024
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21]
21}
21]
21]
21]
21]
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21]
21]
21]
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21}
21]
21]
21}
21]
21]
21]
21]
21]
21]
21}
21}
21}
21}
21}
21}
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21}
21}
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}

000564
000568
00056C
000570
000574
000578
00057C
000580
000584
000588
00058C
000590
000594
000598
00059C
0005A0
0005A4
0O005A8
0O005AC
000580
0005B4
0005B8
0005BC
0005CO0
0005C4
0005C8
0005CC
0005D0
0005D4
0005D8
0005DC
OO005EO
O005E4
OOO05ES8
0O005EC
0005F0
0005F4
OO005F8
O005FC
000600
000604
000608
00060C
000610
000614
000618
00061C
000620
000624
000628
00062C
000630

addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx

38A013CO
7C041D8E
7C042D8E
386013E0
38A01400
7C041D8E
7C042D8E
38601420
7C041D8E
38A01440
38601460
7C042D8E
7C041D8E
38A01480
386014A0
7C042D8E
7C041D8E
38A014CO0
386014E0
7C042D8E
7C041D8E
38A01500
38601520
7C042D8E
7C041D8E
38A01540
38601560
7C042D8E
7C041D8E
38A01580
386015A0
7C042D8E
7C041D8E
38A015CO0
386015E0
7C042D8E
7C041D8E
38A01600
38601620
7C042D8E
7C041D8E
38A01640
38601660
7C042D8E
7C041D8E
38A01680
386016A0
7C042D8E
7C041D8E
386016C0
38A016EO
7C041D8E

PRRPRRPRRPRRRPRPRPRRPRPRPRPRRPRPRPRRPRPRPRRPRPRPRPRRPRPRRPRRPRPRPRPRPRREPRRPRPRPRREPRPRREPRREPRRRERRRRERRERER

L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX

gr5=5056
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=5088
gr5=5120
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gr4,gr5,0)=qro0
gr3=5152
$$V.a[12(gra,gr3,0)=qro
gr5=5184
gr3=5216
$$V.a[12(gra,gr5,0)=gro
$$VvV.a[12(gr4,gr3,0)=qr0
gr5=5248
gr3=5280
$$V.a[]2(gr4,gr5,0)=qro0
$$V.a[]2(gr4,gr3,0)=qro0
gr5=5312
gr3=5344
$$V.a[]12(gr4,gr5,0)=qro0
$$V.a[]12(gr4,gr3,0)=qro0
gr5=5376
gr3=5408
$$V.a[12(gra,gr5,0)=gro
$$VvV.a[12(gr4,gr3,0)=qr0
gr5=5440
gr3=5472
$$V.a[]2(gr4,gr5,0)=qro0
$$V.a[]2(gr4,gr3,0)=qro0
gr5=5504
gr3=5536
$$V.a[]2(gra,gr5,0)=qro0
$$V.a[]12(gra,gr3,0)=qro0
gr5=5568
gr3=5600
$$V.a[l12(gra,gr5,0)=gro
$$V.a[l12(gra,gr3,0)=qro
gr5=5632
gr3=5664
$$VvV.a[12(gr4,gr5,0)=qro0
$$V.a[]2(gr4,gr3,0)=qro0
gr5=5696
gr3=5728
$$V.a[]12(gra,gr5,0)=qro0
$$V.a[]12(gra,gr3,0)=qro0
gr5=5760
gr3=5792
$$V.a[l12(gra,gr5,0)=gro
$$V.a[l12(gra,gr3,0)=qro
gr3=5824
gr5=5856
$$VvV.a[12(gr4,gr3,0)=qro0
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21}
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21}
21}
21}
21}
21}
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21]
21]
21]
21]
21]
21}
21}
21}

000634
000638
00063C
000640
000644
000648
00064C
000650
000654
000658
00065C
000660
000664
000668
00066C
000670
000674
000678
00067C
000680
000684
000688
00068C
000690
000694
000698
00069C
0O006AO
0006A4
0OO00GAS8
0O006AC
000680
0006B4
000688
0006BC
0006CO0
0006C4
0006C8
0006CC
0006D0
0006D4
0006D8
0006DC
0O006EO
0O006GE4
0OOOGES8
0O006GEC
0006FO0
0006F4
0006F8
0006FC
000700

qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx

7C042D8E
38601700
38A01720
7C041D8E
7C042D8E
38601740
38A01760
7C041D8E
7C042D8E
38601780
38A017A0
7C041D8E
7C042D8E
386017CO
38A017EO
7C041D8E
7C042D8E
38601800
38A01820
7C041D8E
7C042D8E
38601840
38A01860
7C041D8E
7C042D8E
38601880
38A018A0
7C041D8E
7C042D8E
386018CO0
38A018EO
7C041D8E
7C042D8E
38601900
38A01920
7C041D8E
7C042D8E
38601940
38A01960
7C041D8E
7C042D8E
38601980
38A019A0
7C041D8E
7C042D8E
386019CO0
38A019EO
7C041D8E
7C042D8E
38601A00
38A01A20
7C041D8E

PRRPRRPRRPRRPRRPRPRPRRPRPRPRPRRPRPRPRRPRPRPRRRPRPRPRPRRPRPRRPRRPRPRPRPRPRPREPRRPRPRPRREPRPRREPREPRRRERRRRERRERER

QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX

$$VvV.a[12(gr4,gr5,0)=qro0
gr3=5888
gr5=5920
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=5952
gr5=5984
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[12(gra,gr5,0)=gro
gr3=6016
gr5=6048
$$V.a[12(gra,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=6080
gr5=6112
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=6144
gr5=6176
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=6208
gr5=6240
$$V.a[l12(gra,gr3,0)=qro
$$VvV.a[12(gr4,gr5,0)=qro0
gr3=6272
gr5=6304
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=6336
gr5=6368
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=6400
gr5=6432
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=6464
gr5=6496
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=6528
gr5=6560
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=6592
gr5=6624
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=6656
gr5=6688
$$VvV.a[12(gr4,gr3,0)=qro0



21]
21}
21]
21]
21]
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21]
21]
21}
21]
21]
21]
21]
21]
21]
21}
21}
21}
21}
21}
21}
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}
21}
21}
21]
21]
21]
21]
21]
21]
21]
21}
21}
21}

000704
000708
00070C
000710
000714
000718
00071C
000720
000724
000728
00072C
000730
000734
000738
00073C
000740
000744
000748
00074C
000750
000754
000758
00075C
000760
000764
000768
00076C
000770
000774
000778
00077C
000780
000784
000788
00078C
000790
000794
000798
00079C
0007A0
0007A4
0007A8
0007AC
000780
0007B4
000788
0007BC
0007CO
0007C4
0007C8
0007CC
0007DO0

qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
gvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
gvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx
qvstfdx
addi
addi
qvstfdx

7C042D8E
38601A40
38A01A60
7C041D8E
7C042D8E
38601A80
38A01AA0
7C041D8E
7C042D8E
38601ACO
38A01AEO
7C041D8E
7C042D8E
38601B00
38A01B20
7C041D8E
7C042D8E
38601B40
38A01B60
7C041D8E
7C042D8E
38601B80
38A01BA0
7C041D8E
7C042D8E
38601BCO
38A01BEO
7C041D8E
7C042D8E
38601C00
38A01C20
7C041D8E
7C042D8E
38601C40
38A01C60
7C041D8E
7C042D8E
38601C80
38A01CAO
7C041D8E
7C042D8E
38601CCO
38A01CEO
7C041D8E
7C042D8E
38601D00
38A01D20
7C041D8E
7C042D8E
38601D40
38A01D60
7C041D8E

PRRPRRPRRPRRPRRPRPRPRRPRPRPRPRRPRPRPRRPRPRPRRRPRPRPRPRRPRPRRPRRPRPRPRPRPRPREPRRPRPRPRREPRPRREPREPRRRERRRRERRERER

QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTFDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX
QVSTFDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTEDX
QVSTEDX
L1
L1
QVSTFDX

$$VvV.a[12(gr4,gr5,0)=qro0
gr3=6720
gr5=6752
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=6784
gr5=6816
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[12(gra,gr5,0)=gro
gr3=6848
gr5=6880
$$V.a[12(gra,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qroO
gr3=6912
gr5=6944
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=6976
gr5=7008
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=7040
gr5=7072
$$V.a[l12(gra,gr3,0)=qro
$$VvV.a[12(gr4,gr5,0)=qro0
gr3=7104
gr5=7136
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=7168
gr5=7200
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=7232
gr5=7264
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=7296
gr5=7328
$$VvV.a[12(gr4,gr3,0)=qr0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=7360
gr5=7392
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[]12(gra,gr5,0)=qro0
gr3=7424
gr5=7456
$$V.a[l12(gra,gr3,0)=qro
$$V.a[l12(gra,gr5,0)=gro
gr3=7488
gr5=7520
$$VvV.a[12(gr4,gr3,0)=qro0



21] 0007D4 qvstfdx 7C042D8E
21] 0007D8 addi 38601D80
21] 0007DC addi 38A01DA0
21] OO0O7EO qvstfdx 7C041D8E
21] O00O7E4 qvstfdx 7C042D8E
21] OOO7E8 addi 38601DCO
21] OOO7EC addi 38A01DEO
21] 0007FO qvstfdx 7C041D8E
21] 0007F4 qvstfdx 7C042D8E
21] OOO7F8 addi 38601E00
21] OO0O7FC addi 38A01E20
21] 000800 qvstfdx 7C041D8E
21] 000804 qgvstfdx 7C042D8E
21] 000808 addi 38E01E40
21] 00080C addi 38601E60
21] 000810 qvstfdx 7C043D8E
21] 000814 addi 38A01E80
21] 000818 addi 39201F20
21] 00081C addi 39401F40
21] 000820 qvstfdx 7C041D8E
21] 000824 addi 38CO1EAO
21] 000828 qvstfdx 7C042D8E
21] 00082C addi 38EO01ECO
21] 000830 addi 39001EEO
21] 000834 addi 39601F00
21] 000838 qgvstfdx 7C04358E
24] 00083C addi 38600006
21] 000840 qvstfdx 7C043D8E
21] 000844 qvstfdx 7C04458E
21] 000848 qvstfdx 7C045D8E
21] 00084C qvstfdx 7C044D8E
21] 000850 qvstfdux 7C0455CE
gr4,%$$vV.a[]2(gr4,grl0,0)=qro0
24] 000854 Id ES8A20000
24] 000858 addi 38800101
24] 00085C addi 38C00400
24] 000860 addi 38E00000
24] 000864 addi 39000000
24] 000868 addi 39200000
24] 00086C bl 48000001

RPRRPRRPRRPRPRRPRRPRPRRRPRPRPRRPRPRPRPRRPRPRRPRRPRRPRRPRRERRRRERRERER

RPRRRRRBR

QVSTFDX
L1

L1
QVSTFDX
QVSTFDX
L1

L1
QVSTEDX
QVSTEDX
L1

L1
QVSTEDX
QVSTFDX
L1

L1
QVSTFDX
L1

L1

L1
QVSTEDX
L1
QVSTEDX
L1

L1

L1
QVSTFDX
L1
QVSTFDX
QVSTFDX
QVSTFDX
QVSTEDX
QVSTEDUX

L8
L1
L1
L1
L1
L1
CALL

$$VvV.a[12(gr4,gr5,0)=qro0
gr3=7552

gr5=7584
$$V.a[]2(gr4,gr3,0)=qro0
$$V.a[]2(gr4,gr5,0)=qro0
gr3=7616

gr5=7648
$$V.a[]12(gra,gr3,0)=qro0
$$V.a[12(gra,gr5,0)=gro
gr3=7680

gr5=7712
$$V.a[12(gra,gr3,0)=qro
$$VvV.a[l12(gr4,gr5,0)=qroO
gr7=7744

gr3=7776
$$V.a[]2(grd,gr7,0)=qro0
gr5=7808

gro=7968

gr10=8000
$$V.a[]12(gra,gr3,0)=qro0
gr6=7840
$$V.a[l12(gra,gr5,0)=gro
gr7=7872

gr8=7904

grill1=7936
$$VvV.a[12(gr4,gr6,0)=qro0
gr3=6
$$V.a[]2(grd,gr7,0)=qro0
$$V.a[]2(gr4,gr8,0)=qro0
$$V.a[]2(gr4,gril,0)=qro
$$V.a[]12(gra,gr9,0)=qro0

gr5=_$STATIC(gr2,0)
gr4a=257

gr6=1024

gr7=0

gr8=0

gro=0

gr3=_xIfBeginl0,7,gr3,gr4,#1",gr5,gr6,@PAL1_SHADOW_CONST.rnsO.,gr7,gr8,@PALI
_SHADOW_CONST.rns0.,gr9, xIfBeginlO",fcr ,#MX_TEMP1",grl,cr[01567]",gr0",gra4"
-gri2”,qr0"-qr31",mq", Ir",xer",fsr'*,ca",ctr,qr0"-qr31"

24|
24|
24|
241
241
24|

000870
000874
000878
00087C
000880
000884

ori
or
addi
addi
addi
bl

60000000
7C7C1B78
389E0040
38A00006
38C00001
48000001

RPRRRRR

LR
Al
L1
L1
CALL

gr28=gr3

grd4=gr30,64

gr5=6

gr6=1
_xIfWriteLDChar,4,gr3-

gr6, xIfWriteLDChar",fcr,#MX_TEMP1",grl,cr[01567]",gr0",gr3"-grl2™,qro"-
qr31l”,mqg",Ir",xer",fsr'",ca",ctr',qro"-qr31"

24| 000888

ori

60000000

1



24] 00088C or 7F83E378 1 LR gr3=gr28

24| 000890 addi 389D1F38 1 Al grd=gr29,7992
24| 000894 addi 38A00008 1 L1 gr5=8

24| 000898 addi 38C00008 1 L1 gré6=8

24| 00089C bl 48000001 1 CALL

_xIfWritelLDReal,4,9r3,a[],gr4-
gr6, xIfWriteLDReal™,fcr,#MX_TEMP1",grl,cr[01567]",gr0",gr3"-gri2”,qr0"-
qr31”,mg",Ir",xer"” ,fsr',ca”,ctr,qr0*"-qr31"

24] O008AO ori 60000000 1
24] 0008A4 or 7F83E378 1 LR gr3=gr28
24] 0008A8 bl 48000001 1 CALL

gr3=_xIfEndl0,1,gr3,_xIfEndl0", fcr,#MX_TEMP1",grl,cr[01567]",gr0",gr4" -
gri2”,qrO0"-qr31",mq", Ir",xer",fsr",ca",ctr’,qrO0"-qr31"

24| OOO8AC ori 60000000 1
25] 0008BO addi 38600000 1 L1 gr3=0
25] 0008B4 bl 48000001 1 CALL

_xIfExit,1,gr3, xIfExit",fcr,#MX_TEMP1",grl,cr[01567]",gr0"”,gr3"-grl2*”,qr0"-
qr31”,mq", Ir",xer",fsr',ca",ctr",qro0"-qr31"

25] 0008B8 ori 60000000 1
25] 0008BC tw 7C8E7008 1 TRAP 9
25] CL.16:
| 0008CO b 48000000 1
Tag Table
0008C4 00000000 00012201 92040000 000008C4
Instruction count 561

|
|
|
| Straight-line exec time 561
| Constant Area
|
|
|

000000 73696D64 2E664942 4D204942 4D204942 4D204942 4D202020
000018 20202020 20202020 405F7000 00000000 405F7000 00000000
000030 405F7000 00000000 405F7000 00000000 61286929 3D20

>>>>> FILE TABLE SECTION <<<<<

FILE CREATION FROM
FILE NO FI1LENAME DATE TIME FILE LINE
0 simd.f 01708713 13:29:03

>>>>> COMPILATION EPILOGUE SECTION <<<<<

FORTRAN Summary of Diagnosed Conditions
TOTAL  UNRECOVERABLE SEVERE ERROR WARNING INFORMAT IONAL
D)) ) Q) w )
0 0 0 0 0 0

Source records read. . ... i oo e e e e e e e e e mmaaaaa———aa 25



1501-510 Compilation successful for file simd.f.
1501-543 Object file created.



